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" ‘A) b 37T C B) 90K
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Cly 37K D)  100°C. =
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A}J Ch Hyp o B) Cn Haq
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* T-qhe general molecular formula of atkynes is
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A) Cn | 5 DY B) Cn Hgn @
(E} Ci Hopg D) Gy Hgyun
3. ‘gr‘fr;rrea_w useL. e 2 GULiu@dog. Grlol awo usaLdld wpagde Garam
B . .
Hepsse
A — B) 3
;o 1
) 1 i
ey = Dy - .
. 3 2
i - | _ |
“ A fair die is tolled. The probability of getting an even number on the face of the
" die is '
1
A - B) g
f _ :
o C) — D) —.
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98.6 degrees fahrenheit or 37.0 degrees celsius.
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CnH2n-2
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ans D
P(A) =  	The Number Of Ways Event A Can Occur
The total number Of Possible Outcomes 
P(1) 	 =  	# of ways to roll a 1 	 =  	1
                               total # of sides 	            6
 
P(2) 	 =  	# of ways to roll a 2 	 =  	1
total # of sides 	6
 
P(3) 	 =  	# of ways to roll a 3 	 =  	1
total # of sides 	6
 
P(4) 	 =  	# of ways to roll a 4 	 =  	1
total # of sides 	6
 
P(5) 	 =  	# of ways to roll a 5 	 =  	1
total # of sides 	6
 
P(6) 	 =  	# of ways to roll a 6 	 =  	1
total # of sides 	6
 
P(even) 	 =  	# ways to roll an even number 	 =  	3 	 =  	1
total # of sides 	6 	2
 
P(odd) 	 =  	# ways to roll an odd number 	 =  	3 	 =  	1
total # of sides 	6 	2 
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A

Abdlug Coiad oyt SemnhgeTen @D
A) (LploemL B)

C)  ysgidlevsdl D)

Q5 et ement

Qe SHHST.

The Election Commission of India is situated at

A)  Mumbai B)
C) New Delhi D)
Suifles uﬁ@&wmmgn&, @ wheeurt

A) IFTDSHTEST | B)
C) Geayirayr - | D)
The Guardian of Akbar was

Al Bairf;lm Khan Bj
C) Sher Shah D)
“HTLETIGanE" 2 hald waonhe SHhseat
A) wafiGuweae 7 B}
C) wrghl - D)
Who disguished he;sclf as “Kayasalndigai“ ?
A) Manimekalai B)
C) Madhari - D
HCanal aneuyev srHmyaliiig

A) wreneidere eflwrd | - B

C) OLigshsmisse D)

x [1702] %01

Chennai @

Kolkata.

g Jall

grewt sirsreud).

Chand Bibi )

Rani Durgawati.

2 lemr

wrgall,

Adhirai

Madavi. . .
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A
	
Who disguished herself as “Kayasandigai”? – Manimekalai


@a ;? - 3 o
L 5 ‘PICT
ffl“ékvlvirus causcs r
A}.;ii Filariasis B)  Cholera @
o C]i Dengue fever D)  Malaria.
. 8. af@ip QErTH&slUL Rerardlé g sflurs Qz.llrr@g',gmul.'_(asﬁmgj ?
. & E '
,k A)’k wHHu @rilcGeai e e - e N
! B})‘E e GriaGe mc&&gm@ — Qesimen
.
_. é){ auL 6@ @rdleGeu wedorcuibd —  Genpéyi
D)k | Qahe @rulesGeu weor euib —  wrellsmer.
. : %;ich one of the following is correctly matched ?
| A)? Central-Railwa;v | —  Mumbat
) B) : Eastern Railway —  Chennai
; : C) ! Northern 'Raﬂway " —  Gorakhpur @
f ~D} I Southern Ratlway —  Maligaon.
o ,
N 9 ésts‘r!rr ereBTmT ey |
g A) }! Quusitpeut B) eﬂg)g'bg algt
B 762 E 2ifley Quibmeurt D) w8 GG.
K J!nd mea.r_ls |
| A) ‘r Conqueror B) Gre.at hero
0 ! Enlightened man o Priest. = 5
10.. H® é\;’@,oé,(‘.?&rrm,&,é]str cg{Lq.tllL;lé:;&Lb 9 Q8 18, wpHpd 2 wyd 12 G 18, srasﬂda. 20T u.;uq _ !
A) ;.4 108 Qs 5.2 B) 21Qs.5.2
i i :
. e 42 @s.18.2 D} 54Qs.f2. ﬁ
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C
Flavivirus causes Dengue fever
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A

Correctly matched is: Central Railway – Mumbai
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A

Jina means Conqueror
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The area of a triangle with base 9 cm and height 12 cm is

A) 108 cm? | B 21cm? D
C) 42cm? . D) 54cm?
11, ~Quipgmint> - a&hE q&,gp@u{b{DQJ 7 | .
A) = CLrQurentiss Qgmiflé B) dleguu_g @g,ﬁkﬁ]eix
0 seeud Qmpléupi Lib | D) elesTus Qg fléo.

Detroit is famous for
A) Automobile industry | B)  Film industry @
C) Information technology D) Agriculture.
12 GeulLiul L g .erén.g-ales getoaanar @Ga;cmrll:ug,rj)@ LWeETURSSULED QT
A) lq_.Gr&';LE:j. LTewGiyen
B) st UreuLGL e
C) 1 .6Te0r.g. oevGamcuser
D) QuevMeayen sesar@m by sbeflGuevesi.

The enzyme uscd to join the broken DNA fragments is

A) DNA polymerase B)  Alkaline Phosphotase

C) DNA Ligase D}  Restrictipn Endonuclease.
13. CGaneiseilen @mé&ﬂﬁ:mmsﬁ agest mily aflenes L HULUERSESDE 2 @

A)  @flwesr B) yal |

C)  feey D} &;Ls_gélgrmam.

The movements of planets are controlled by the gravitational force of the
A) BSun B) Earth
C)  Moon D) Stars. @
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D

The area of a triangle with base 9 cm and height 12 cm is 54 cm2= 1/2*9*12
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A

Detroit is famous for Automobile industry
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C

The enzyme used to join the broken DNA fragments is DNA Ligase
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A

The movement of planets are controlled by the gravitational force of the Sun


N

- Ao : L ' |
a4 14. 2 eremrdlg Cargdamen Glhs LU HLSSSSTDS 2
™ | o 5
A)  wgglu Caireped gy emeomub 'B) . wirhle Caitses oy ememnulbd
i - ’
~ C) LDr-rEsuL'_L_ré) Gaiger eurflub D)  UTHeeuTenTaen.
Which ,aflthority conducts the local body clections ?
i ) N ’
+A) Ce}1tral Election Commission B) - Siate Election Commission
o st
ko , -
C) . District Election Board D) Observers. @
15.  @pesoiins 2 evslGurfle @hdluiseer rOUOSSS sTreoiomi @Ehs o bdlGew
i A ¥ 1 ‘ :
; EmELSOTIT L ' ‘
A)  efleuGLrGuri® dftien B) Qudlé emyeten
O SNenadsGon D) §.6f. OwéaTei.
kg . The Bnu;;h Viceroy responsible for involving Indians in the Second World War
. ; :
A)  SiriStafford Cripps B)  Pethick Lawrence
. C) Li;fex;-ilithgow .D) A. V. Alexander. @
16, @hdu Mara cukd Camppelssiul L Syei@
A}y 1935  B) 1949
: } |
o c) 1950 . D) 1957.
- | o .
Reserve Bank of India was established in the year"
‘ | | : ’
A) 1935 ‘ B) 1949 =
P ) 1950 ' D) 1957
17. a0 edeorsdpe [ HP. ) 6eugl .ooocceverine. @ &.
j |
A) 846 qum B) 546 sum’_
B :
C) 946 aurl ' D) 746 cuml.
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B

State Election Commission conducts the local body elections
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C

The British Viceroy responsible for involving Indians in the Second World War was Linlithgow
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A

Reserve Bank of India was established in the year 1935


DICT : 8
One Horsepower ( H.P. ) is equal to
A) 846 watt’ B) 546 watt

C) 946 watt D) 746 watt. )

18. (5 seflwgder  Hleon g 16 2z e a@m 8, aalld ofle 2 eien
By et el ereoremoi&an e
A) 16 ' ' B} 8
C) 32 ‘ D) 4.
) !

If the mass number of an clement is 16 and the atomic number is 8 then the

number of neutrons is

A) 16 o A B) 8

C) 32 D) 4. @
19. 5‘\/§+‘\/§63TU.)§_9DL{ |

A) 2142 _ . B) 542

C) 3242 . | D)  942.

The value of 5+/2 + 4/32 is

A) 2142 B) 542 @

C) 3242 D) 942.

20. @urgusurallet semeveur

A) GRUyE ST B)  gle0e @yuysSseameeut

C)  sumprwes D) Jpsw seownssr.

The Chairman of the Rajya Sabha is 7 ‘ | @
A) the Presldent-‘ of India B)  the Vice-President of India

C) ihe Speaker D) the Prime Minister.

x [170Z]
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One Horsepower (H.P) is equal to 746 watt
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B
To know the number of neutrons,

Atomic Mass equal the number of protons plus neutrons.
So we have to take the number of Atomic Number MINUS Atomic Mass.
16 - 8 = 8
So the number of neutron is 8.
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D

The value of 5√2 + √32 = 9√2
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B

The Chairman of the Rajya Sabha is the Vice-President of India
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21

22,

24,

. {
x fi

A

e i

&g;cﬁg;m
A)  60-5%

-C)hisos%‘

Accrqr{ ing to the Census estimate of 2001 the rate of 1

A)  60:5%

. .C) 7 80'5%

sl @&ﬂé;&uuﬁ.l_ 24,6001 ()
A) : 11828
C). --;5835
Satijiwéis ab_olished in

{828
e

.
- C) 1835

;
o :
“CInOHe euremL ' ereTLg)

A) %&.ﬂqmﬂuwt.@ -

c) q}uun;@

"Nedu _l\;lal Vaadai” belongs o
A) | =r/i%é§épurapattu :

C) Pﬁrapatnx

ammcs Foulq Ul SITETT ST &6l
A) _é}:iasfr:ﬂasefu s@usiu(gufr;'siu
(H"tggé&ﬁ

w

9

B

D)

B)

D}

B)

D)

B)

D}

B)

D)

B)

D)

B)

D)

.2001" p&sHTOFTOmS HamHOHGU S g sdlpprigé saaliudley Cubpeurrsefies

73-5%

77:5%.

DICT

iteracy in Tamil Nadu was

735%
| (=)

77-5%.

1829

1838.

1829

1838.

SHULTLH

@eunhniet ¢ giayblévenen.

'A'gapattu

None of these.

ey Qs mue

@g@ryrrsiu@urrrﬁr.
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B

According to Census estimate of 2001 the rate of literacy of Tamil Nadu was 73.5%. Literacy rate in Tamil Nadu has seen upward trend and is 80.33 percent as per 2011 population census
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B

Sati was abolished in 1829
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A

“Nedul Nal Vaadai” belongs to Agapurapattu
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E(_ii.ble mu-shrooms' are
" A) Agarlcus bisporous ' | B) Rhizopus
C}  Mucor D) Neur.ospora. @
25. gréHs@gOieT opGluwt |
A)  emeuy B | B)  ppa Be
C) Qe part | D) flessh par.
The other name of Tuticorin is
A) Diamond city B) Pearl city @
-} Gold city .. o _ D)  Coal city.
26. . 9|cTOTERTTIDEMEY UGS GPED ahs 6o BHDeUlIuL L g ?
A) 1926 | B) 1924
C) 1929 D) 1922,
Annamalai Uni;rersity was established in
A) 1926 _ B) ?924 @
) 1929 | o D) 1922,

. 27, Eé p. 3000 wHoId iy afBd 4% H@ BUETNE AFREEHEEG ST QLG HGD
&l () U3 5Gb oo Cuw Hlem &@ib aflpHursnd

A)  Rs. 80-00 ‘ B) Rs. 480
C) Rs. 6:80 | D) Rs. 48-00.

If the principal is Rs. 3000 and rate of interest 4%. then the difference between

‘simple interest and compound interest is
A) Rs. 80-00 - B) Rs. 4-80 : @

C) Rs. 6-80 D) Rs. 48-00.


user
Sticky Note
24
A

Edible mushrooms are Agaricus bisporous
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B

The other name of Tuticorin is Pearl city
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C

Annamalai University was established in 1929
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B
	
Principal is Rs. 3000 and rate of interest 4%, then the difference between simple interest and compound interest is Rs. 4.80
D=p*(r/100)^2= 3000*(4/100)^2=4.80


28.

29.

30.

11 | ' DIC'I;
2 au&iD @6y ) dlymowrs @uﬂﬁ;@m@fn@ GITH GOOTD
A)  usewl L{I}l:;él , B} g;&sﬁéu G\g-,rrL_r'rqu Y&l
) ‘[é’e\)u L8l ' D) @g,.mﬁrj)qul'_é.
World has become a global village duc to
A) Gr?en revolution . | @
B) Communication and information revolu}lon
C) ; Bluc revolution
D} Industrial. rcvolution.
tgé»sﬁ]gmmﬂa') geursh peor Clupid (Weop
A) | (RIS , B) 2 dgasd.
Cl  ugeud | D) sL&mBe.
The method of x_'cspirétion which takes piéce in euglena is
A) :C(_)ntraction " | . B) . Absorption @
C) Diffusion ’ Dj Conduction-.
&ngl'%[b@m @@é(ﬁ&? S UL (elren e st
A)  uggm &,lﬁj&,s\) . | B) afprgl
C). srCorsi ojment ) siuLmebrel] BiGEssHah.
The dam construgted across the river Sutlej is
A) .Qhakrr;l- Nangal ' | B) Hirakud @
C) Damodax“ dam . . D} Stanley Reservoir.
B PpHIE Lhﬁbﬂg) 2 iflenna el %mmmg}gﬂs&r g,@a)smqualb'err&@m'mgj ?
A Sms & ‘ . B) | gy |

C) - Qecismes D) dlmoyr.
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B

World has become a global village due to Communication and information revolution
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C

The method of respiration which takes place in euglena is Diffusion
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A

The dam constructed across the river Sutlej is Bhakra-Nangal
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The hecadquarters of the Tamil Nadu State Human Rights Commission is

situated at
A) Trichy . - B) Madurai
C) Chennai D)  Tirupur. | @
- 32, gilperige ndle oy dlee adlyre weedie Curliieur
A) S QuTbwest ' © B) qéﬂ,&,@gmr;r
C]r Slea wmHe) D) Geugy mredlumsd.
. The first war against the British rule was st‘arted in Tamil Nadu by
A)  Kattabomman "~ B) Pulithevar ®
C)  Chinna Marudhu I1)) Velunachiar.
33. @;‘r;g]u.umﬂsiﬂ Bargews serehdlwub
A)  uEreml | B [T EDEN S Tedy
C) ypdlgl SyCaen ) D) gpfleven.

Wheat granary of India is

A)  Punjab . | . B) 'Rajasthan =
C)  Andhra Pradesh : D) Orissa.

34. CLefest epetmrd el .o, 2 frem @un@a&&;@&@.@un@' D.
) peoTm bal

A giey Harendles v Gid

B) @ués Bleveulés ol Hid

C) @le wbpb Gues Hees @)esonigeud

D) ewores Heop- \
Newton's third law is applicable to bodies

A) at rest only ‘ B) in motion only

C) both at rest and in motion D) with same mass.
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C

The headquarters of the Tamil Nadu State Human Rights Commission situated at Chennai
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B

The first war against the British rule was started in Tamil Nadu by Pulithevar
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A

Wheat granary of India is Punjab
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C

Newton’s third law is applicable to bodies both at rest and in motion


35.

36.

37.

38.

13 - pICT

@)@"é;luﬁ\e'\) 2 &ffen 2_Cauraid
A AL | B) Mg
c') Fe | . D) Cu.
Metal present in blood is
Al Al o B) Mg
C) Fe D) Cu. @
29, 2325, 29, 30, 25, 28 @sﬁmsm Qe Heney
A) 29 . B} 23
C) 2:8 ' D) 30
Tl'_nc me:dian of 25. 23. 25, 29, 30, 25..28 is @
A 29 | | B} 23
c) 28 | | D)  30.
£. BT, &;'Tm@g.& weflg 2 Mewser SysLerid Glmaﬂuﬁ!L_uut'__t_ g
A; 1945 g sbut 10 B) 1946 igeibu 10.
C) 1947 geour 1(_) D) 1948 wsibuir 10.
UN adop:ted the Universal Declaration of Human Rigl‘lt‘s on
A) IOt}; December, 1945 : B) 10th December, 1946
C)  10th December. 1947 . D)  10th December, 1948. ol
SlweiyeonrCaeugmunrmes TSIt USHHD
A) (PSS DT QWST | B)  &burmomuestd
C)  Hagpren Cungip ‘ D)  wsTUrTSD.
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Metal present in blood is Fe
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C
The median of 29, 23, 25, 29, 30, 25, 28 is 28
23 25 25 28 29 29 30 mid term is 28
Eg
Arranging the observations in the ascending order, we get
23, 25, 25, 25, 26, 28, 29, 29, 30, 30.
N = No. of observations = 10, an even integer
Median = average of (N/2)th and (n/2 +1)th term
=average of 5th and 6th terms= average of 26 and 28 = (26 + 28)/2=27
Mean - To find the mean add all the numbers together then divide the answer by the amount of numbers. Another name for mean is average.
Median - To find the medium list all the numbers in correct order, being sure to include an doubles. Then find the middle number. If there is an odd amount of numbers - the medium is the middle number. If there is an even amount the medium is found by adding the middle two numbers together and dividing by 2. The resulting number is the medium.
Mode - after listing all numbers in order, the mode is that number which appears the most times. There can be more than one mode provided they are listed the same amount of times. 
Range - is the distance is the distance between the lowest and highest number. It is found by subtracting the lowest from the highest.
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D

UN adopted the Universal Declaration of Human Rights on 10th December 1948
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The book written by Krishnadevaraya was

A)  Amuktha Malyada _ B) Kambaramayanayam

C)  Sivagnana bodham . . D) Mahabﬁaratam_. @
39. “seg GQuTdl LUTLG - e cggemgpé,&mu®mg;

Ay OuPuigyresin | B)  dmpefomeanunip yjTemid

C) _ edleiygnm) LT 6ot D) shsyTTemID.

“Kadhai podhi paa‘dal“ is known as.
A) Periyapuranam B) Thiruvilaiyadél puranam
c) ‘Vishhu puranain b) Kandha puranam. @
40. ) LG enn @evey eumy)
. A} &midue em; 3 Senen® ' B)  sy&edlme
C) coremi’ [y enasT : | D} eplygme.
Greenhouse gas is |
A) Carbon dioxide B)  Oxygen
C) Hydrogen ' | D)  Nitrogen.
41. @pHuredé srEoLOD woesHerussie Be 2 wihss
| A} eeulyshu o B) &EhaeT gmeT
C) K, D)  seuerdl]
The highest peak in India is

A} Mt. Everest ' B) Mt. Kanchenjunga

=]

C) Mt K, D) Mt Dhoulagiri.
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A

The book written by Krishnadevaraya was Amuktha Malyada
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39

“Kadhai podhi paadal” is known as
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40
A

Greenhouse gas is Carbon dioxide
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B

The highest peak in India is Mt. Kanchenjungan (8,586 metres (28,169 feet).)


42.

43.

44.

45,

. 15 DICT
pévevey o1 Ehdledr Bless H Bl eur i) Lﬁlrﬂq.

Al mr® "B} Gamlitb

<C) Der(t - D) LOETDTL 6D .

The smallest unit of the Palléva administration is
A) | ~ Nadu N B) Kottam @ )
C) ~ Oor ) _ D) Mandalam.. :
n('m=5mﬂs\,.n(m4ns&m@uq
noo32 ' B) 16
cl 8 | o e
Ifn{A)=5thenn {'P(A ))is
A). 32 | ’ B) 16
! -

c) 8 ' D} 64

Brrad aaﬁr&ﬂmm seooHUlig Smeur wirit 7

5\

A) Capeveurt. ) . B) Garures

C) gyt uml D) Curded Coms.
Who is the inventor of ‘Stealjln’l engine 7

A) James Watt : B) Gopal

Ci R Bhétt | - DD} Mohini Sethi.
BEsd sl el aﬂ’é)é’&,_rr@mb Q&@é&ﬂ&@ E NN Y-

A). Gl TS senemn B) QJrru.le'an;l_g'agae'\)

C) @ésid 2 onse D) eny-oufles swekLTE.
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The smallest unit of the Pallava administration is Oor
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If n(A) = 5 then n(P(A)) is
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A

James Watt is the inventor of steam engine
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Blood platelets help in
A) Immunity B)  Gaseous transport @

C}  Blood clotting D) Acid-base balance.

46. omasadard &L Ganrhsdldar  ssserd  ouflas a@é&ﬂu@mgwdm Wwoaalld -

2_(IHELITETTEMEL
A)  GLmbGurGeur - B) . Qekrgssrer sfley
C) By LI S D) &L @os.

Initially, the cutting action of the waves against the base of coastal land

produces
A)  Tombolo | | B) cut 5
C) Spit ) D}  Seacave. -

47.  sAprTig pese QU wmdgeut
| A} - uedtigs oTumh | B). LméLit gebreflOs et
C).  LréLit (e &b N | b) tréi it e@Grrgdlel pry@.
The first woman doctor in Tamil Nadu is
A)  Pandit Ramabai B) Il)r—. Annie Besant @
C)  Dr. Muthulakshmi D) Dr. Sarojini Naidu.
48. 1857-gud gy Qupd yp Sdic, Cuope S&Eﬂstt Had Sphs @Uﬁ@jmé’; genug
A} serair b L B) Gereliks S
C) @g@eﬂ,{s 8y D) - @y mb LBSTIT QT

The most outstanding milltafy leader of Western Bihar in the Great Revolt of

1857 was
A) Kunwar Singh B)  Govind Singh
C)  Ranjit Singh ' D) Bahadur Shah Il @
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C
Blood platelets help in Blood clotting
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B

Initially, the cutting action of the waves against the base of costal land produces Cliff
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C

The first woman doctor in Tamil Nadu is Dr. Muthulakshmi
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A

The most outstanding military leader of Western Bihar in the Great Revolt
of 1857 is Kunwar Singh


49,

50.

51.

52.

C)  kelvin . D) roentgen.

17 ' pICT
@i aleass Qleuef) aurisd) Hpjeuen [ ISRO ) 1968-6 mabdlu prRsss saubHTs

SHTLESH geysenid Syeowhgeien G b

A} giur B)  Qeeiemen

Cy Q_cvad) . | D)  beu.

The location of an ISRO launching station dedicated to the United Nations in

1968 is
A)  Thumba B) Chennai @
C) Delhi ‘ [9)] Mumbai.

sdliraléflen s

A) Q?l&lsbuq,a)rr B)  eLwminf

C} Oadalda : D) pre Clgpet.
The unit of radiation exposure is

A) candela B} dioptre

=

@rsssder pH iy

A) 55 — 75 : B) 45— 55

C) 73 —75 D) 40— 4-4.

pH value of blood is

LY

A) 55to78 B) 45to55 @ :
Cj 73t075 D) 40to4-4.
3.8, 13, ..... 6D Gt HHOaTL A (pse 11 2 miysssfler sanBge

¢

A} 380 - _ B) 318

C) 308 : - P} 388.
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A

The location of an ISRO launching station dedicated to the United Nations in 1968 is Thumba Location in Kerala, India

user
Sticky Note
50
D
	
The unit of radiation exposure is roentgen
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C

pH value of blood is 7.3 to 7.5


DICT ) 18

The sum of the first 11 terms of the AP. 3, 8,13, ..... is

318 —
=)

C) 308 - o D) 388. -

A) 380 B)

53. @ubdluraildr Geramiy Ghomyf
A) d]Qq@gf | : ‘ - Bl guureflw Guomfl
C) dGrss G\Lnrréﬂ . D) yidleud. |
" The link language of India is.
A) French | B) Japapese @
C)  Greek D}  English.
54, &.48.1 625-@: wiepd sPeflure g,frév;e,uuf_u yepoubD Gbe Sewd Gohs G
A) a@@grr@gmrr | B) Gemwprsyro
C) dleveurgm D) yfl gedmprgt.
In i02'5 A.D., Mahmud of Ghazn! attacked the most celebrated Hindu temple at
A) - Khajuraho . B) ‘Somnath .
' : (®)

C) Dilwara ' D)  Puri Jagannath.

55. “GIQ'JQQIT@ s wreoeugpd AniiysGiu -Qurﬂm HIT i 5608 S(BSSTETD Lig b
- Geussor(Pib” eTesTd Sapdhueurt ' -
A} &ns‘ﬁ@@m@ o . B) wréii gl y. Gurl
C) eﬁ"l;rmrr@soﬂ'mr'r D} LméL e Geu. &1
Wheo said, “Every Tamil student should read Periya Puranam in deep” ?
A)  Caldwell | ' B) Dr. G. U. Pope @

C) Veeramamunivar ' D) Dr. U. Ve. Sa.

x (1752
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C

The sum of the first 11 terms of the A.P 3, 8, 13, … is 308
S = 1/2(2a1 + d(n-1))n 
 =1/2(2*3 + 5*10)11
=308
Formulae for the n-th term can be defined as:
an = 1/2(an-1 + an+1)

If the initial term of an arithmetic progression is a1 and the common difference of successive members is d, then the n-th term of the sequence is given by
an = a1 + (n - 1)d, n = 1, 2, ...

The sum S of the first n values of a finite sequence is given by the formula:
S = 1/2(a1 + an)n, where a1 is the first term and an the last.

or
S = 1/2(2a1 + d(n-1))n 
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D
	
The link language of India is English
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B
	
In 1025 A.D., Mahmud of Ghazni attacked the most celebrated Hindu temple at Somnath
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U. V. Swaminatha Iyer
	 Who said, “Every Tamil student should read Periya Puranam in deep”?
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56. gaﬂg suuﬂg')@ju@u_'irr'é,@ @HCrmler oHl@diee
| A} quiui@Genm e B}  &meugm
¢l GQarCrru | D] oggTheu.
Severe diarrhoca is a symptom of |
!{) Tuberculosis B)  Cholera
e =
C) Leprosy ) D) Anthrax.
57. 2 adler de e wiluren siedl Siemohgeten @Q@t&xapeﬂ;
A)  udlis QuEheLd B) @l enramgd Gumphsi e
C) &igé QU@EI&L.G\: D) @hdul QumhsL .
The world's deepest "Marina Trench’ is located in
A) Péqific océan B) Atlantic ocean
€}  Arctic ocean - ‘ ) Indian ocean. >
58. Slybw &wrrgg@em,é;g Garhnedisseurd
A) r&,mrrsurg;;g,' gyeoeugdl - B) @ureprgrn Gurasesymi
C) st esug ,gqe:mgu&,rr& i D) | &@@ﬂ@u&s&nj_.
'f‘he Brahmo Samaj was established by
A)_ Dayanand Saraswati- B} Raja R'flmmohaﬁ Roy.
C) . | Sir Syed Ahmad Khan . D) br. Annie Besant.
59, a= 5 b = Ssrsuﬂ@ a? + ab et wHioy
A) 80 ' : B) 40

C) 60 D) 45.

x . [ Turn over
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B

Severe diarrhoea is a symptom of Cholera
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57
A

The world’s deepest ‘Marina Trench’ is located in Pacific ocean. The Mariana Trench or Marianas Trench is the deepest part of the world's oceans. It is located in the western Pacific Ocean, to the east of the Mariana Islands
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B
The Brahmo Samaj was established by Raja Rammohan Roy
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ifa = 5. b =23 then the value of a2 +ab is
A') 80 ' Bﬁ 40 @
C) 60 ‘ ‘ D) | 45,
60. Epdurede @g_,su'rrio g{ag,rrafm@é, S Lin @mg@@muu(agg;esuuu_ %GUUT@
A) ]947 B) 1951
) 1956 o D) 1961,
The first Five-Year Plan of India was launchqd in
A) 1947 - B) 1951
C) 1956 . 3] -1961 .
61. sf@é,&,sdml_m@gjmﬁ GNBTET SIeuUrD eF g ?
A) @UWﬁeﬂdu o B}  Bl@smgurenm Qmunssib
C) KL evevemhsv _ ' D)  sveouestrdhum spevCrefhu.
Which one of the following‘is a short day plant ?
A)  Mirabilis B)  Nicotiana tobacum
C) Beta vulgaris ' . ' D) Spinacea oleracea. @
62. &@gwm&,é\@r S LILOL Qs
Al &Hbub ’ - | 13') G
c) aﬂ-qume. D) .LDIT[b.aamb, | c
The basic unit of the society is
A} farnily . B)- house-

C)  village - : D) city. . @
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B

a = 5, b = 3 then the value of a2 + 2ab is 40
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B
	
The first Five-Year plan of India was launched in 1951
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C
	
Beta vulgaris is a short day plant
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A

The basic unit of society is family


o

21 : : DICT
63. aget srpcwiore @UaibEgErs sremt ndle ors pasG Sefles @plaTOL

Ul L. Heng SDBSTT 7
A)  ugherl upolETeNe
B) '@gné\a 2. s IGumifléy @gf’rmmﬂtﬂs&r Ggarrﬁ'uaﬂ
C) Qeafl-Qeeamyr Hapsd
D) &'rrg}‘eﬂtﬁ]s&r &G
Rabindranath Tagore rcnounc':ed his Knighthood as a measure of protest after
A) | Punjab tragedy
B) - befcai of Germany in World War 1 | @
C) - The Chauri-Chaura incident
D) | Gandhtji‘é arrest:
64. Ggélu QUEBLTETD G
A)  wsdlu e aupomeid
B) wadu mg‘;@ab wirfles T eumLTRTD
C) Oures srye m@wm'smfo
D) @urrg@ggsmbufﬂs&r @)evTL) EuGLOTaTD .
National Income is
A)  Income of the Central Government
B}  Income of the Central & State Governments | @
C) Total of factor incomes

D) Profits of the Public sector,
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A

Rabindranath Tagore renounced his Knighthood as a measure of protest after Punjab tragedy
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C

National income is Total of factor incomes
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65. dleteuGeaietaubyiet aana (paHestann BpRse 7
A eﬂmu;_{, U . HeulD B}  feuly. Q@w%&. LN .
C) e, Humredt, Qe D) sergm, Heuly, LUsens.
Which of the following are pfimary colours ?
A) Red, green and blue - B) Red, cyan and blue
C) Blue. cyan and magenta . D)  Violet, red and green.
66. WeGaefar oemwlsy |
| A} eretorpdl _ B)  prebips
C)  &geT sgyb | D)- MET g LD

The structure of methane is

A) octahedral B)  tetrahedral @
C)  square planar ) D)  linear.
67. (-1, - 37) LDﬁ)ﬁ)lb (-5 - 7) geip yeaflmemen Gevammsgn CaHri.(E gievorig e
GUYstref | o
A (8.5) B) (-3,5) ,

C) (-3,-5) ‘ D) (3,-5)
The mid-point of the line segmm;lt joining the points (- 1. -3 )and (-5, =7 ) is
Al (3.5) | | . - B) (~3.5)
C) (=3.-5) . ' D) (3.-5) ;@-
68. @bdlurale curssesgn o fNowssrear cuws

A) 21 %m@imﬁ . ' B) 25 o aoi@oen

C) 18 g@m@aei D) 20 ZcEi@ee.

x [1702] |
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A

Red, Green, Blue are primary colours
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66
B

The structure of methane is tetrahedral
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67
C
	
The mid-point of the line segment joining the points (-1,-3) and (-5,-7) is (-3,-5)
gvn (x1,y1) and (x2,y2)
mid point (x1+x2/2), (y1+y2/2)
here (-1+(-5) / 2), (-3 + -7 /2)
      (-6/2), (-10/2)= -3,-5


23
Th(;_j age for voting right in India is
A) 21 years s B)
-C} M 18 years | D)

69, ‘aQadl' - atugear srTdl Gumms
A} Qurmerrasmry upssemiilny B)
C) @&rrj)g‘[brr.(a D)
‘éwadcshi' literally means
A Economic boycolt o B)
C} One's own country ‘ D)
70.  w&omi_eles Comid Sy nse
A) ) *mmﬂ@ggn@, Gamenqummy, unaﬁarqm”@;

B)  auwst pé. scips pd, s ne

DICT

25 years @

20 years.

Shflu gefaen ety
SHBW QurmL g6 Lpéheeiiy.
Burnt foreign clothes

Boycott foreign goods. @

C) sem QurEeer, Abpry, Cargeivr g o0

D}  eeuems, QU@ , sTdlruresh.

The rivers merge in Mukoodal are

A) Manimuthéru. Koraiyaru, Pandiyaru

B)  Vazhutha Nadhi, Shann;uga Nadhi, Varaaga Nadhi @
C) Than Porunai. Sitraru. Kothandarama Aaru

D) Vaigal. Porunai. Thamirabaraﬁi.

71, agbymsEl GLTLsE CErfEsiudD wHHS

A)  epGenum Hlurdi . B) |

C) . oG mengiblig ein

x [1702]

Qe fefiein

D) @eoeal amm&,gm.
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C

The age for voting right in India is 18 years
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C

‘Swadeshi’ literally means One’s own country
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70
	


The rivers merge in Mukoodal are
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Effective drug for TB is | : @
A) Isoniazid ' . B)  Penicillin
C) Azidothymidine D) Al of these.

72. q,aQu_J sHhalls Qaraiams MwpsluRSEEILL L 9 bR
A) 1980 , | ‘ B) 1985 ‘ | '
C) 1986 D} 1983,
New Educational Policy was annou_nced in

A) 1980 B) 1985

C) 1986 D) 1983

73. 'arg,[bfe_ﬂg @pdurels upse Bhdlus sHemeen I Ebpi ‘ : Ny
Ry, B G ,
C}  gesteonr | D) @prorg.
The first Indian Governor-General of free India was ' @
A} Gaﬁdhiji ' B}  Nehru
C) Jinnah D)  Rajaji.

74. @t Qo séey wmrdler hes ol . 1.700. ophs [ﬁ\@;cusmm 10% gein@nug
| .amﬂgé]qsm 21hs cuesorg e allbusman aflame

A) 5. 1,500 B) . 1.350 | :
C) . 1.530 | D) . 1,300.

The marked price of a bicycle is Rs. 1.700. If the company gives 10% discount,

then the selling price of the bicycle is - . : @
A} Rs. 1,500 ’ B) Rs. 1.350
C) Rs. 1,530 D)  Rs. 1,300

x. Q/
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A

Effective drug for TB is Isoniazid
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C

New Education Policy was announced in 1986
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73
D
	
The first Indian Governor-General of free India was Rajaji
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C

The marked price of a bicycle is Rs. 1,700. If the company gives 10%
1700*10/100=170
1700-170=1530
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01
	

A
	

Normal temperature of human body is 370 C

02
	

C
	

The general molecular formula of alkynes is CnH2n-2

03
	

C
	

A fair die is rolled. The probability of getting an even number on the face of the die is 1/3

04
	

C
	

The election commission of India is situated at New Delhi

05
	

A
	

The Guardian of Akbar was Bairam Khan

06
	

A
	

Who disguished herself as “Kayasandigai”? – Manimekalai

07
	

C
	

Flavivirus causes Dengue fever

08
	

A
	

Correctly matched is: Central Railway – Mumbai

09
	

A
	

Jina means Conqueror

10
	

D
	

The area of a triangle with base 9 cm and height 12 cm is 54 cm2

11
	

A
	

Detroit is famous for Automobile industry

12
	

C
	

The enzyme used to join the broken DNA fragments is DNA Ligase

13
	

A
	

The movement of planets are controlled by the gravitational force of the Sun

14
	

B
	

State Election Commission conducts the local body elections

15
	

C
	

The British Viceroy responsible for involving Indians in the Second World War was Linlithgow

16
	

A
	

Reserve Bank of India was established in the year 1935

17
	

D
	

One Horsepower (H.P) is equal to 746 watt

18
	

B
	

If the mass number of an electron is 16 and the atomic number is 8 then the number of neutrons is 8

19
	

D
	

The value of 5√2 + √32 = 9√2

20
	

B
	

The Chairman of the Rajya Sabha is the Vice-President of India

21
	

B
	

According to Census estimate of 2001 the rate of literacy of Tamil Nadu was 73.5%

22
B

Sati was abolished in 1829

23
A

“Nedul Nal Vaadai” belongs to Agapurapattu

24
A

Edible mushrooms are Agaricus bisporous

25
B

The other name of Tuticorin is Pearl city

26
C

Annamalai University was established in 1929

27
B
	
Principal is Rs. 3000 and rate of interest 4%, then the difference between simple interest and compound interest is Rs. 4.80

28
B

World has become a global village due to Communication and information revolution

29
C


The method of respiration which takes place in euglena is Diffusion

30
	

A
	

The dam constructed across the river Sutlej is Bhakra-Nangal

31
	

C
	

The headquarters of the Tamil Nadu State Human Rights Commission situated at Chennai

32
	

B
	

The first war against the British rule was started in Tamil Nadu by Pulithevar

33
	

A
	

Wheat granary of India is Punjab

34
	

C
	

Newton’s third law is applicable to bodies both at rest and in motion

35
	

C
	

Metal present in blood is Fe

36
C

The median of 29, 23, 25, 29, 30, 25, 28 is 28

37
	

D
	

UN adopted the Universal Declaration of Human Rights on 10th December 1948

38
	

A
	

The book written by Krishnadevaraya was Amuktha Malyada

39
	

 
	

“Kadhai podhi paadal” is known as

40
	

A
	

Greenhouse gas is Carbon dioxide

41
	

B
	

The highest peak in India is Mt. Kanchenjunga

42
	

C
	

The smallest unit of the Pallava administration is Oor

43
	

 
	

If n(A) = 5 then n(P(A)) is

44
	

A
	

James Watt is the inventor of steam engine

45
	

C
	

Blood platelets help in Blood clotting

46
	

B
	

Initially, the cutting action of the waves against the base of costal land produces Cliff

47
	

C
	

The first woman doctor in Tamil Nadu is Dr. Muthulakshmi

48
	

A
	

The most outstanding military leader of Western Bihar in the Great Revolt
of 1857 is Kunwar Singh

49
	

A
	

The location of an ISRO launching station dedicated to the United Nations in 1968 is Thumba

50
	

D
	

The unit of radiation exposure is roentgen

51
	

C
	

pH value of blood is 7.3 to 7.5

52
	

C
	

The sum of the first 11 terms of the A.P 3, 8, 13, … is 308

53
	

D
	

The link language of India is English

54
	

B
	

In 1025 A.D., Mahmud of Ghazni attacked the most celebrated Hindu temple at Somnath

55
	

 
	

Who said, “Every Tamil student should read Periya Puranam in deep”?

56
	

B
	

Severe diarrhoea is a symptom of Cholera

57
	

A
	

The world’s deepest ‘Marina Trench’ is located in Pacific ocean

58
	

B
	

The Brahmo Samaj was established by Raja Rammohan Roy

59
	

B
	

a = 5, b = 3 then the value of a2 + 2ab is 40

60
	

B
	

The first Five-Year plan of India was launched in 1951

61
	

C
	

Beta vulgaris is a short day plant

62
	

A
	

The basic unit of society is family

63
	

A
	

Rabindranath Tagore renounced his Knighthood as a measure of protest after Punjab tragedy

64
	

C
	

National income is Total of factor incomes

65
	

A
	

Red, Green, Blue are primary colours

66
	

B
	

The structure of methane is tetrahedral

67
	

C
	

The mid-point of the line segment joining the points (-1,-3) and (-5,-7) is (-3,-5)

68
	

C
	

The age for voting right in India is 18 years

69
	

C
	

‘Swadeshi’ literally means One’s own country

70
	

 
	

The rivers merge in Mukoodal are

71
	

A
	

Effective drug for TB is Isoniazid

72
	

C
	

New Education Policy was announced in 1986

73
	

D
	

The first Indian Governor-General of free India was Rajaji

74
	

C
	

The marked price of a bicycle is Rs. 1,700. If the company gives 10%
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75. @eru Cpréspdhens Qewdu ms andllme ehlilGe
A sypdgr i) ' B)  @pdu Nereu cured
C)  @bdus geuitden eutid D)  seasgr eukd).
The Bank whose motive is not profit making is
A) Andhra I-Bankl | - B) RBI
C) 0B D) Canara Bank.

76.  @eubmist spedimy smswsdla Cladnuens Sde |

A Cyedges B). s i

C)  gemewt Glasmer D) eewib BIT&HST.
Which one of the following is not a kind of cell of xylem tissue ?
A) Tr‘achcids B) Tracheae
.C} _Companién cells D] Wood fibres.

77. ulguéd I g utgud I 2L Quresd, £Cy @a,w@é,&,uuL@sfren @@ﬁ@aésmméé
Qaream@ sflures alem_scowd CaTHOsE

ulgquée I ulguée I
a) SO Gs : : 1. siéear e
b) | 2 5dly ByCemed 2. sibud QLEML_
c) QR eEHT ' 3. ul(® syeoL

d) srfieuré ' 4. et argenr QummL e,

GoldRser :

A3 1 4 2
By 1 2 3 . 4
C) 2 1 4 3
D 3 1 2 a.

x [T702 | 901 - [ Turn over
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B

The Bank whose motive is not profit making is RBI

76
C
	
Companion cells is not a kind of cell of xylem tissue
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Match List I with List II correctly and select your answer using the codes given

below :
List I | List II
a) Mysore : 1. Sugar iﬁdustry
i)} Uttar Pradesh | 2. Woollen textiles
c) Bangalore 7 _ 3.  Silk textiles
d) Dhariwal 4. Eleﬁctronic goods.
Codes :
a b .c d .
A) 3 1 4 2
B) 1 2 3 4
o 2 4 3 @

D) 3 1 2 4.
78. - euT&HSTeNT g{cm;_mwsn S e WNemesT UPhIGHEUS) WITTT ?
Al @pdu Caise oy emanub B]  wreulL g Ut
C)  waparrldl o enemmuf ' D) geneveur.
Who issues the Voter Identity Card ?
Aj Election Commission of India B) District Collec?or’

C) Municipal Commissioner [} Chairman. .

79. whssT ureuGL  Qarpuy grellu  Gamiirevey 2 uGurdlEs  LDIGE BT

(Bme\)_@ﬂg,rrlrﬂcmm &L (0% Q&TRIDG RS ?
A)  Gougri B)  Gupsyr

C) HrebTyd . ) LSUL'_.

x (i702] :
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A

Mysore – Silk textiles

Uttar Pradesh – Sugar Industry

Bangalore – Electronic goods

Dhariwal – Woollen textiles

78
A
Election Commission of India issues the Voter Identity Card
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Mahgal Pandey refused to use the greased cartridge and shot down his sergeant

at

A) Vellore ' . B)  Barrackpore
[

C) Cawnpore _ D}  Meecrut,

80. =Quwflée pedu Ersalds o Hugdleou Ghdur o Heo el (pbssamyw

Geuenmesn 2_pusgil el
Ay Qe ' B@ Gargamnd
C)  8my sraukiser D Garliu udiser.

" The agriculiural production in which India may outsmart the USA in the near

future is
» A) Paddy _ B) Wheat
<) Millets Dj) Plantations, .

ki

81. fluralGalu gsers, priserssa@n Vystusnrs Qosuduid EUés

amdleow QeTLmdlug

A sblppr@ arepaL beSan HPalud adgrfl

B)  &fpr_s %rrebgr;ecm bmHsae dlailuc sdogril

CY  suhdly srepeoL wEEse yBlalue gy

D) gesamienre Gre srdapel. w®hdses Sblatud sdeml.
The first blood bank exclusively for d;Jgs in Asia was opened by
A) Tamil Nadu Veterinary and Animal Sciences University
B) Karnataka Veterinary and Animal Sciences University
C)° Andhra Veterinary and Animal Sciences Universi_tly

D)  Jawaharlal Nehru Véterinary and Animal Sciences University.
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79
B

Mangal Pandey refused to use the greased cartridge and shot down his sergeant at Barrackpore

80
B

The agricultural production in which India may outsmart the USA in the near future is Wheat

81
A

The first blood bank exclusively for dogs in Asia was opened by Tamil Nadu Veterinary and Animal Sciences University
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82. emsul GhoRsar s QUUOSHISHSENE HHDGIDD WaaTpseid Qbdly syerTe

SNOHSHULL_L | 60oT(h
A) 2010 B) 2009
C) 2008 D) 2007,

The Cybér crimes regulation court was established by the Government of India

in the year

A} 2010 B) 2009
o 2008 D) 2007
83. eaB&HGD grr.ecrmrrasg', ST & aalg @U_é,g;eua;)& WIF g ? @
A) Q B} A
C) | B ) AB.

Which is the Universal donor blood group ?
A) O _ : By A
¢ B | D) AB.
84. gCaren L'It_G\)L'D Qs 2 ighadng
A} BsCget B) &Qenmiflen
C) uypeaign sdliser : | ' D)  sreudls sdiree.
Ozone layer absorbs
A) Methane ‘ ' B)  Chlorine
CJ: ' Ultraviq}el radiation _ D) Cosmic rays.
85. 2_adlen welay aflemes &t
A} wrGerr, Lrim Gl e B}  @uiber. Owiélyev Gluesen

C)  wrmd sedl : D) enOedmi.
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C	

The Cyber crime regulation court was established by the Government of India in the year 2008

83
A

O is the Universal donor blood group

84
C

Ozone layer absorbs Ultraviolet Radiation
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World's cheapest car produced is

A) Nano by Tata Motors B) Daimler Mercedes-Benz

C) Maruu-Suzuk_i . D) ']‘ Iyundai.

86. Uemcumeustaubper ahs Hmal e idldr @nee al@ Jibuhsmer 2 e TéHs

. 2 Hehing) 2
A) asGLrev@amr ' B} erlpmeuGaml
C) @& 2 usyeed D) 4. 5. suGaebren.

Which of the following machines is used to take sectional images of the body ?

A) Endoscope : B) Laparoscope
Cj ECG machine D} CT Scanner.
¢ 87. seallle: weanen aein HPpHeLLGS @
. Ay CPU . : B) UPS
C) CAD ' D) IBM.

The brain of a computer is
A) CPU B) UPS
C} CAD _ D} IBM.
88. ‘“Scicnce and Sustainable Food Security” a6in U$&&5H08 Gr(ggg‘ﬂiusur'r
: A) M. S seaumblprger o B) K. Gorardmeysmres
C) L Frsdel aym | D) Ijt'_L_Gt'ﬂ@lDrrrri' $lesraunn .
The book “Science and Sustainable Food Security” is written by
A) M. 8. Swaminathan B) K. Radﬁakrishnan
C)  Dr. Rajiv Shah " D) Ratan Kumar Sinha.
89. AfsQsrye sfle pasa QLo Qar_fé a@asat wmi 2
A) M. S. GLredl B) greé grmedl
'C)  safler QuamBévat D) serdust.

x : ( Turn over


user
Sticky Note
85
A

World’s cheapest car produced is Nano by Tata Motors

86
D

CT Scanner machines is used to take sectional images of the body

87
A

The Brain of a computer is CPU

88
A

The book “Science and Sustainable Food Security” is written by M.S. Swaminathan
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Who is the highest test scorer in cricket ?

A) M. S. Dhoni , B)  Rahul Dravid
C)  Sachin Tendulkar : D} Gavaskar. : .
90. 2011 owéseabgrans 6@TSEGGHRHUY, BT .o, UGl L&HSEO\GTEnS
rs,méﬁh&@uq &L, | ,
A} 11 - B} 12
2) 13 D) 15,
The Census 201.1 isthe .....co.oeeveeen. National Census.
A)  1lth o B} 12th
C) 13th - ' D) - 15th.

® - .

A) 26, 11. 2004 . B 26. 11. 2005 .

91. 210 HITHOTIg & e&H eumilihs &ermdl euhg Brel

) 26. 10. 2004 D) 26. 12. 2004.
The powerful Tsunami attack of 21st Century was on
A) 26.11. 2004 ' B) 26.11. 2005
C} 26. 10. 2004 . ) 26. 12. 2004.
92, Lm&@_@éu “Bflfley Crris ek ady ey hain@Hng 2
A Gw 27 ) B) gugé 27
C) goan 27 | , D) goOoe 27.
The "World Diabetes Day” is observed on
A)  May 27 |  B)  April 27
C) June 27 Dj .July 27.
93. fiénery Grieos Gused wWes Qs G Gni
A) @é\)&m,{ﬂ . B)  oywormeud

¢y JGyun @uwmfl o D)  allsmwes &nfl.
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C

Sachin Tendulkar is the highest test scorer in cricket

90
D

The Census 2011 is the 15th National Census

91
D

The powerful Tsunami attack of the 21st Century was on 26.12.2004

92
*

observed on November 14
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Thﬁ?; first woman clectrig train drriver is
: A”? Thilagavathly - ‘ B)  Amaravathy
. c) I;rcrna Kumari : . D)}  Vijayalakshmi. |
o ow g _
2 94. @pdlu Godlu oL wrer o e llé 2 dren Gevsanmailas o esocmibames
: | A) l 12 - ' B) 10
o1 Dy 11,
Thgénumber digits in Indiaﬁ Natioﬁal Identification card are
A‘)ﬁ%}* B 2 _ B) 10
Cy 13 '(’ S D) 11.
. 95. Qg}@tlﬂ %gﬂrﬂ&&nm_ﬁ]m (P sHULlET GYUisHsd Smeoeur
A) ;::__f @mevasst wesorGL somr o B)  gumom
i C) prepusGe ‘ D) lq,(&.,_rr.@
| The flrst black President of South Africa is
Al Nelson Mandela " B) Obama
' C) , Rajapakshe ' D) Tito.;
N 96. 2010 o G GpHuraler B ewnéed
. Aj _‘ P'f-, Qe 7Cuely : B}  slledlléo
C) u. Sabuyb D) dpemmy @yaeie.
“, i ,.Th:e_lli_‘_'ménce Minister of India in 2010 was |
A) "?A_Jai_ram Ramesﬁ B)  Kapil Sibal
" C). !_:.,P. Chidambaram | ' D) Pranab Mukherjee.
97. 201-_0 %L'D. <2}, GIOTLS 65T (Bsnrre's&urraﬂs&r sUTBIWET .
n &, Ga. fereman - B)  weiyLinéy
C) _iﬂ’q&@tnrrﬁ _ . : D) gre qu‘_)surrg'.
& E x[1702] 901 . { Turn over .
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A
	

The first woman electric train driver is Thilagavathy
94
	

A
	

The number digits in Indian National Identification card are 12

95
	

A
	

The first black President of South Africa is Nelson Mandela

96
	

D
	

The Finance Minister of India in 2010 was Pranab Mukherjee
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The Speaker of' Lok Sabha in 2010 was
Al G. K. Pillai | B) Yashpal
C) Metra l{umér | D) Raj Bharadwaj.
98. @Eidu safwe Hreuend ( ISc J2_fien paid
A) Qedrenet B) GQuhseapT
C}  igevell ' D) qpibenu.
| Ih which city is Indian Institute of Science ( [1Sc ) located ?
A}  Chennali B) iSaﬁgalore
C) ' Deiht ‘ D)  Mumbai.
99. wserd @&nggrrgsmrrs‘u sLLOUC L Garallé ergl 7 @
A)  serereyf Quilu Garalle B) -LDQJGD)U' Seorr_Slwibwes Garaldled
C)  Weleweluggr QEoret Baraleo D)  &gbugd pLyrer Carale.
The temple constructed by Rajaraja Chola 1 is
A) Thanjavur big temple "B)  Madurai Meenakshi temple
C) Sri Villiputtur Andal temple D)  Chidambaram Natrajar temple.

100. madls pr@esr sesues urTgeTiy el shendls spinilagrs EhHur

Gaireumest BT el
A) &GLruit 12, 2010 . B) mHeuut 12, 2009
C) g abui 12, 2008 D) Qe but 12, 2010.

India was sclected as a non-permanent member of the United Nations Security

Council on
)

A)  October 12, 2010 , " By November 12, 2009

C) December 12, 2008 D)  September 12, 2010.

x[1707] |
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C

The Speaker of Lok Sabha in 2010 was Meria Kumar
15 	Somnath Chatterjee 4 June 2004 - 30 May 2009 	Communist Party of India (Marxist) 	UPA
16 	Meira Kumar 	30 May 2009–present 	Indian National Congress 	UPA
1 	G.V. Mavlankar 	15 May 1952 - 27 February 1956 	Indian National Congress 	INC+
98
B

Indian Institute of Science (IISc) is located in Bangalore

99
A

The temple constructed by Rajaraja Chola I was Thanjavur big temple

100
A

India was selected as a non-permanent member of the United Nations Security Council on October 12, 2010 
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B
	

The Bank whose motive is not profit making is RBI

76
	

C
	

Companion cells is not a kind of cell of xylem tissue

77
	

A
	

Mysore – Silk textiles

Uttar Pradesh – Sugar Industry

Bangalore – Electronic goods

Dhariwal – Woollen textiles

78
	

A
	

Election Commission of India issues the Voter Identity Card

79
	

B
	

Mangal Pandey refused to use the greased cartridge and shot down his sergeant at Barrackpore

80
	

B
	

The agricultural production in which India may outsmart the USA in the near future is Wheat

81
	

A
	

The first blood bank exclusively for dogs in Asia was opened by Tamil Nadu Veterinary and Animal Sciences University

82
	

C
	

The Cyber crime regulation court was established by the Government of India in the year 2008

83
	

A
	

O is the Universal donor blood group

84
	

C
	

Ozone layer absorbs Ultraviolet Radiation

85
	

A
	

World’s cheapest car produced is Nano by Tata Motors

86
	

D
	

CT Scanner machines is used to take sectional images of the body

87
	

A
	

The Brain of a computer is CPU

88
	

A
	

The book “Science and Sustainable Food Security” is written by M.S. Swaminathan

89
	

C
	

Sachin Tendulkar is the highest test scorer in cricket

90
	

D
	

The Census 2011 is the 15th National Census

91
	

D
	

The powerful Tsunami attack of the 21st Century was on 26.12.2004

92
	

*
	

The “World Diabetes Day” is observed on November 14

93
	

A
	

The first woman electric train driver is Thilagavathy

94
	

A
	

The number digits in Indian National Identification card are 12

95
	

A
	

The first black President of South Africa is Nelson Mandela

96
	

D
	

The Finance Minister of India in 2010 was Pranab Mukherjee

97
	

C
	

The Speaker of Lok Sabha in 2010 was Meria Kumar

98
	

B
	

Indian Institute of Science (IISc) is located in Bangalore

99
	

A
	

The temple constructed by Rajaraja Chola I was Thanjavur big temple

100
	

A
	

India was selected as a non-permanent member of the United Nations Security Council on October 12, 2010 
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C i fOl . Métg:i’l tﬁc following words given in Column A with their meanings in Column B
angl éelect the correct answer from the codes given below :
| Column A ‘  CotumnB
. a)  ailment - 1. - wounded
B} b)  mute S " 2. illness
= ‘ c) . furiously ' 3." silence
"d)  hurt ' " 4. violently. L
Cosiefs; |
i a b ¢ d
A 2 3 4 1 =l
B -4 3 1. 2
L o 1 3 4 2
D) 3 2 1 4
: 102, M&;h.the following wordsr given- in Column A with their meanings in Col;xmn B
, and .‘:.sel'ect the correct answer from the codes given below :
Column A - | Column B
f | : a) acute . ) 1. discover -
Sb) amazed . 2.  doubt
« ' . ta " unearth . - 3. severe
. ;
- . d)  suspicion - 4.  surprised.
& qu_g-:s :. - \

Al 4 3 2 1
B 3 4 1 2

c) 1L .2 4 3

D} _: 4. 2 3 1.
«|1702] L | 901 ] [ Turn over
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a ailment 2 illness
b mute - 3 silence
c furiously - 4 violently
d hurt 1 wounded
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c1
d2
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103. Malch tﬁc following words given in Column A with their meanings in Column B
and select the correct answer from ihe codes given below :
Column A | Column B
a) Siblings 1. reveal , -
f
bl hardy ’ 2. brothers and sisters
. c) mettle . 3. strong )
| d} disclose ' 4, courage,
Codes : | » . .
a b c d '
A) 3 4 1 2 - @
B 2 3 | 4 1
Q) 3 4 2 1
D) 1 2 4 3. ' .
104. Maich the following words given in C;)lumn A with their meanings in Column B
and select the correct answer frbm the codes given below : |
Column A _ Column B
a) wise 1. punishment
b)  penally . 7 2.  clever
c) _ strange . 3. friend ¥
d) companion | 4, unknown, '

Codes :

AAd 2 1 4 3
=

B 4 1 2 3
a2 3 4 1
D) 4 1 3 2

<[ 1702 | . ~ [901]
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a2
b3
c4
d1
met·tle/ˈmetl/
Noun:	
A person's ability to cope well with difficulties or to face a demanding situation in a spirited and resilient way.

user
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a2
b1
c4
d3
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105§§.:Mati:h the following words given in Colui:nn A with their meanings in Column B

106.

107,

‘and select the correct answer from the codes given below :

- Column A Column B

i‘ ©oap gauged , , 1. disappeared‘

i bl  astonishing 2. something new
o0 vanished 3.  very surprising
- d)  novelty 4. measured.

-Codes :

', a b ¢ d

A 4 1 2 3 =

5)'}: 4 3 1 2

o 3 2 4 1

D) 2 1 3 4

C)i;loos-e tﬁe correct ssrnonym for the itaiicized word :

Thc multimedia presentations are enhanéed with graphics. .

. A) . broadened - . B) . increased _

-C}‘,; widened : D} -encouraged. @

Ch’bpse the ¢orrect synonym for the italicized word :

_ The book left an indelible impression on my mind.

108.

A) credible . | S B) unforgettable @
C) great | D) interesting. v
Chéose the correct éynonym for the italicized word : | |

! am a convict. |

A) . acruel man : ' B) aperson imprisoned for a ¢rime

C) ¥ an honest man D) a dishonest man. @
Yy . .
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169. Choose the correct Synonym for the italicized word :
Jourmeys by plane are convenient.
A) enjoyable B)  comfortable
.' C) -suitable : D)  horrible. @
1.10. Chpose the correct synonym for the italicized word :
‘Be sincere and honest’ is my parents credo.
A)  philosophy B) assessment @
C) attention . D) interest.
"1¥1. Choose the correct antonym for the italicized word :
‘ I wanted to conquer my fear of red.
A)  act B) show @
.C)  defeat ' D) think.
112. Choose the correct antonym for the italicized word :
Sir John was living in a palatial house. .
Al big B smal [0
C) rich _ D) large.
113. Choose tile correct antonym ‘for the italicized word :
Train journeys have a different charm. @
A) many B) same
C) vaﬂoﬁs . D) variety.
114. Choose the correct antonym for the italicized word : ]
The flower girl ts sﬁabby.
A} , neat B) dirty @
C), bad ' D)  good.
115. Choose the correct antonym for the italicized word :
You have an absolute right to claim the bill,

A) r}ecessary' B)  complete @

Q) limited D) unlinﬁted.
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any system of principles or beliefs
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116.

117.

- 118.

119.

120.

121.

122.

123.

37

. DICT

Sel_(;& the word with correct prefix :
A) icounteract o B) uncounter
C) “countless DJ) Qecounter. @
S'elec;_f the word with correct prefix : '
A) unBehav_e | ’ | 13] disb’ehave |
C}y noﬁbehave . B | D}  misbehave.
Select the word with correct prefix :
A} _.;;'pr'otechnic _ B} 'pronouﬁ _ @
) ,iprogljémme D)  professional. -
Select the word with ;:drrect suffix : ‘
A) | ._‘ap[.)ointly ' - B}  appointness
C] <appointer - D) apbointmént. @
Select the word with correct suffix : | |
A) ﬁl’ookable ~ B) movqblf;
C) .iwiteable o ' Di takeable. _ @
Fill.in_ the blank with the suitable article : | :
RRITIEeS e, Ganga is ‘a holy river. |
Al An ' B) The
0 A D)  No article. | =
Fill in the blank with the suitéble article :
Savithri is ........................ honour to this profession.
A)  an B) a
C)  the - ' D) noarticle. @
Fill i_n_,llhe blank with the suitable artitle : ' |
..................... dogs are barking.
A The ~ B) An =
C) A . . D) No.articl‘e. |
[ Turn over
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124. Fill in the blank with the suitable article :

Napoleon studied in ............. SOPPR army school in a small French town.
A} an "B) a
(_3} none ‘ - - D) the. @
125. Fill in the blank with the suitable article :
Mr. Prabhuisoneof ....................... best speakers in our city.
A)  the B) a

=]

C) an D) no article.
126. Fill in the blank with the suitable preposition

Children are not afraid ................. ... the dog.
A)  at B) from @
C) by | D) of

127. Fill in the blank with the suitable preposition :

My mother has completely recovered ... her illness.
Al of , B} .at
C) from | : D)  with, @

128. Fill in the blank with the suitable preposition :

. He worked .......ooveeeininnnnn, sunrise to sunset. @
A) since B) from
C) over D) beyond.

129. Fill in the blank with the suitable preposition : '

Rohiniisfond .........ccvviiinnnts music.
A) of ‘ B) with @
C) from D) at.

130. Fill in the blank with the suitable pr’eposition :
Pla;:e your ﬂgh{ hand ....... e, your left hand.
A) between _ B) after |
C)  under D) next. =

x _1702 ] 901
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131. Select the correct question tag:
You"l:'éoln‘is married, ............. tvrerennt P -
A) isn'the | | | | 'B)  didn'the
C) '_ Jhasn't he o _ - ‘D) won't he.
132. Select th.e correct question tag : |
' Wajta minute, ..... U P
Al can't you ‘ B} haven't you
'C]“‘ ',d6 you : : D}  areyou. @
133. Select the correct question tag : o
Hema solved all h_er problems, .......o..cceiinins ? : .
A) did she ‘ B} hadshe
| C)  hadn't she | - D) didn't she.
134 Select the correct question tag :
| You are anxious to know about your future, .............. T
A} doyou ‘ ' - B} don't you @
C) aren'tyou D) areyou.
135. Select the correct quesﬁon tag : |
’I‘hey havé sold the house, ......... e s ?
" A) © haven'tthey — B) have they
: C] do they - . D) (ion't they. @
136. ‘S;iéflect the correct tense': | | o
Helptl. ... fall ‘
Al will ‘ B] am going to
C).  would L : D) can fall =
- 137. 'Sf:l.:e::t the correct tense : |
My uncle e, ooonn. the Prime Minister yesterday.
RN - saw ‘ B)  will see
| C)  has seen ) D) sees. S @

4?7‘62'} L o 901 |, S - [ Turn over
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138. Select the correct tense : »

Don't disturbme, I ................e. ‘my assignment.
A do | B did ®
C) will do ] D). am doing.

139. Select the correct tense ;

The delegates ............cccceeneee. in the Hotel Trident.
A)  stays ‘ - " B) are staying
C) are stay D) was staying.

140. Choose the correct tense form of the verb given in brakets :

Y .

| (RUUORTRRRURRU ( go) to eleventh standard next year.
A)-  will go ' B) will went
C) ' goes ) D) went.

141. Fill in the blank with the correct form of voice :
This lesson .........cocoeviinnn ... in two days.
A) must complete-
B) have been completed @
C) - should be completed
D) are completing.

142. Fill in the blank with the correct form of voice :

Voter ID cards ............... evaeaens last yeat. ‘
A) were issued ’ . B) shall be issued
. C) ) are issuing : D) had issued. . @

143.- Fill in the blank with the correct form of voice :
The drawing will look beautiful, after it ..................... .
A} is domne : BJ Wés done

. C)  will be done | ' D) may be done.

«[1702]
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145.

146.

- 147.

148.

149.

150.

151.

41 -

Sélecl the correct voice of the following :

The tooth brush ..., in China, during 15th Century.

A)l‘ | invented B)  has been invented.

C) invent ' i D)  was invented. @ |
Sclect the correct voice of the verb from the eptions given : -
Music instruments ......... PR ... by artists.

‘A). s played _ ' B)  are playing '
é) are played ‘ ‘D) will play. @

Fdl in the blank with the suitable participle S
I'm going- ........ e toda'y'. : '

A) to shop = . (i ' B) having shopped
C) shopping D)  shop.

Fill in the blank with the suitable infinitive :

lThESe glasses will enable y:)u ........ e in the dark. )
A).  seeing | ' B) tosee @
C) tobeseen D)  having seen.

‘Fill in the blank with the suitable infinitive : '

"You are supposed ............... S the rules of the road. &
A)  knowing : B) know @ -
C) toknow D)  having known.

Fili in the blank with the suitable gerund :

Her ....... ring i;quité nice. . _

A)  wedded 'B)  wed

C} wedding - - D will wed.

Fill in the blank with the suitable gerund ; |

Ilove ........... veeeeren. in this lake, '

A) swimming B)  will swim

C) swims D} swim. @ '

Identify the sentence pattern :

~ We are getting older. : :
"A) sV | B) S.V.O.C..

c] S.V. ' "D} SWV.0.

..... e

J1502] 9017
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154.

155.

157.

158.

42
Identify the sentence pattern :
We painted the wall grey.
A Svo. B
c) sSV.I0.DO D)

llenufy the senience patiern :

sv.o.c. [

She has been working as a teacher in a primary school.’

A) S V.AA. B}
C) S.VI0.DO.A D)
Identify the sentence pattern :

Selvi cooks lunch.

A} SVA. | B)
¢ SV.O. - . D
Identify the sentence pattern :

The music sounds awesome,

Ay BSV.O. B)
c) S.V.0.A. D)

. Change the following verb into noun form :

Possess
A) possessive - . B)
C} possessed .. ‘ D) .

Ché.nge the following verb into noun : -

Admit .
A) admilted B)
) admissible D)

Change the following noun into verb form :

Combination
A)  combining B}
" C} . combo - . D)

#1 1702 | - [901

S.V.O.C.A.
SV.CA.

S\V.C,

o

S.V.0.A.

SV.C.

SV.A @

possession

to possess.

admits

admission.

combinable

combine.

=]

=

=]

=
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Chéngew the following noun into verb : o

~. Pérformance

A) _perfo’rmer : " ' B)  perform @
Ci performing * " D) perfume. -
160. Change the following adjective into adverb : - o
| ?angerous | | ’ |
A) jv.(‘iang‘er , | B) endangered @
C) f_c;_i‘angemusly : - _ ﬁ) dangers. =~
. 161. Fill in the blank with a suitable homophoﬂe :
I aﬁ; ireereneeeineeens with the new policies.
A) boid , B) bored
‘ C) board ' ‘D)‘ - barred, @
162. Fill in the blank with a suifab‘le homophone :
- The ...l is a heavenly body. :
A)- ~ son ' : B) stun .
- C) l. sun ‘ D) soon. @
163. Fill in the blank with a suitable homophone : '
’I;he‘.f....‘....‘ ............. . of the book is high.
' A)  prize : | . » _ B) .prajse
C)  prose o - D} price. - : @
164. Fill in the blank with & suitable homophone : -
' I"W@nted £O evv et eer e eane ydu with a request for admissién.
A) meat | , B) meet _
C) . met o ‘D) mite. =
165. Fill in the blank with a suitable hemophone : '
{ wdnder what the ...........c..cou....... will be like tomorrow.
A] V;vhethe_r - _ - B} ware : @ |
- C) - further D}  weather.
X [—3@ o L L@}] : | [ Turn over
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166.

167.

44

Comprehension :

Reserve Bank of India is not a commercial bank. It is an aulonomous body
regulating banking service in India. It makes banking laws, and controls the flow
of money. It safeguards the value of Indian currency. The head of the R.B.IL is
the ‘Governor’.

Who is the head of the Reserve Bank ?
A) President

B) Chief Minister @
C) Governor

D) Finance Minister.

Cornprehension :

The City Police are on the look out for a person who has been committing thefts

168.

in houses by dexterously cutting iron grills. The culprit's fingerprints tallied in
nearly half a dozen cases of thefts, includipg the latest incident in house at
Alwarpet, a couple of days ago. )

The police are on the look out for a

A) thief B) robber
C) culprit ‘ D)  burglar. @
Comprehension : A

The Greek word for wisdom is ‘sophia’. and | ‘philos’ means a friend. So -
‘philosopher’ means a friend of wisdom and this is the best possible description

_ of Socrates who was one of the wisest and bravest teachers the world has ever

169.

known.

In Greek ‘sophia’ means

A) wisdom : B) friend @
C) friend of wisdom D) brave.
Comprehension :

The plane driver suddenly brought the plane down and the passengers were
shaken. The doctor came into the plane with the helper in a white dress to see
the passengers. The lady assistants of the plane also helped the passengers.
Everything was okay in a few minutes. '

Why were the passengers shaken ?

A) Plane landed safely

B) Plane landed suddenly . . @
C) Plane driver informed the passengers that it will land slowly
D) Plane did not land safely.

~
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170.

171.

172.

173.

174..

175.

- 176.

177.

CA) . 'How fine the Ajanta paintings are !

45 ‘DICT

. '
Ay . . -

Comprehension :

Milk. is the best food. It has in it water, sugar, fat, vitamins and proteins. People
drlnk milk of different animdls In England and New Zealand and many other
cool lands there are cows.

Wthh countries are named in the passage ? ?

A) _ India and New Zealand B) England and New Zealand @
C) Africa and England o D) New Zealand and India.

"
-

Sel?Ct Lhé correct sentence :

‘A) . 'Let us prey o B) Let pray

C) Let us pray ‘ D) Let be pray. @

Select the correct sentence : '

A) My desire is to seayou again . B) My desire is to saw you again‘
C) My desire is to scene you again - D) My desire is to see YOu again. @
Select the correct sentence : .

A) . Honesty is the good policy B)  Honesty is the better policy
c) Hohesty is the best policy ‘D) Honesty is the finer policy.

Select the correct sentence :

B}  How beautiful the Ajanta paintings are !

“C) How well the Ajanta paintings are ! ' @

D)  How nice the Ajanta paintings are’!
Select the correct sentence :

A) Do it to best of your ability B} Do it to the best of your ability

C) Do it the best of your ability D) Do it to best you ability. @ '
Find -out the error :

1 .would rather prefer to dancing

AT B ¢ > - I

Find out the error :

‘A B - C D

Each' of the student  has pg_r_ti_cipaf@c_l in the competltlon

X [__Il?bﬂ : | 30T_| L : [ Turn over .
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DICT 16
178. Find out the error :
Amodem play school _is open  for kids (=)
A B C D
179. Find out the error :
Ganges 1s aholy river No error
A B ¢ b =]
180. Find out the error :
Yesterday the horse ran fastly ‘ @
A B C D
- 181. Find the odd word { Adverb ) :
A) dreams B) dreamer @
Gl dreaming D) dreamily.
182. Find,t}.le odd word {Verb } : |
A) memory B) memorably
C) "~ memorable D) memorize.
183. Find the odd word ( Adverb ) :
A) praise B) praiseworthily
C) praiseworthiness D) praiseworthy. @
184. Find the odd word ( Adjective } :
N slrangély o B) strange
C) stranger - D) strangle. @
185. Find the odd word ( Noun ) :
A reducible - B) reduced
C) reduction D) reduce.
186. Select the correct plural form for the given word :-
maich
A) malchs B) | matches
C) matchis 3) match. @
187. Select the correct plural form for the given word : ’
index
A)  index B) indices
C) indyces D) indicis. @
x| 1702 | [ 901
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Select the correct plural form for the given word :

branch _
.Af _ branches ‘ ’ B branchéseé
C) . branchis - D) branch - O]
: é‘eleqt the correct plﬁra} form for the given word : |
" mango -
A) .‘ mang6 _ | | B). v mangoes
C}  mangoses 5 D) mangose, @

Select the correct plural form for the given word :

news
"A) ‘newses ' B) ° newsis @ :
‘C) news _ ‘ D) newsies.

--IQ’ehtify the Complex sentence :

A)  I'make a promise only to keep it

"B} Imake a promise and I will keep it

C] . I'f I make a promise, [ will keep it ' @

D) 1 make a promise so 1 will keep it.

Which of the following endings is correct to form the correct Complex sentence ?
A) - his guill | "B) ashe was guilty

C) '.but hé was guilty ' D) so he was guilty.

Identify the Simple sentence : |

A) | Cross this line or you will die

1

B).: .Cross this line to escape death @

- C) Cross this 1in<_3 8o that you will live

D) Cross this line and you will win.

Identify the Compound sentence ;

A)  He lost more than he could afford
B) 'Does he wish me to go ?

‘C)  Icalled him but there was no response @

D) * Locking the door she went out.

N [ _izgz ‘ EQ:&:I] : B [ Tum over
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195. Id?entify the Superlative degree :
A)  Whales are not so big as some elephaﬁts
B) No other game is as popular as football @
C)  Ooty is the coolest hill station in the soutﬁ

D) India is more populous than many other countries in the world.

196. Identify the Superlative degree :
A) Malathi is the i)est actor in the class
. B} Hari is not as clever as Ravi
C} Appleis as coétly as oranges @
Dy Kodai is cooler than _Chennai.
197. Idénﬁfy the Comparative degree :
A) Mathematics is the most interesting subject .
B) Mathematics is more interesting than other subjects
~C)  Mathematics is as interesting as any other subject
. D) No other subject is as interesting as Mathematics.
198. ldentify the degree :
My knife is sharper than yours.
A) Superlative degree " . B) Comparative degree
C} Positive degree D) ‘None of these. @
199. ldentify the Positive degree : -
A) Some vegetables are at least as nutritious as meat
B) Pen is mightier than sword '
C) Birbal was the wisest man . ‘ @
D) The Everest is the highest peak of the Himalayas.
200. Identify the degree : '
Nb other town in India is as large as Kolkata.
A) Posiiive degree ' - B) Comparative degree

C) Superlative degree ' ‘ D)  None of these. .

x[ 1702} _
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